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1. This exam is in two parts. 

2. Part - I is related to Mental Ability Test which consists 

of 100 questions. 

3. Part - H relates to Scholastic Aptitude Test which con-

sists of 100 questions relating to three subjects listed 

below: 

(i) Science 

(ii) Mathematics 

(iii) Social Studies 

4. Each question carries one mark. All questions are com-

pulsory. 

5. You have been provided with an answer sheet (OMR) 

for this question paper. Darken the correct option of 

each question in the answer sheet (OMR) with black/ 

blue ball pen. 

6. Rough work may be done on the blank space provided 

for this purpose. 

7. There is no negative marking in the test 

Do not use white fluid on OMR (Answer Sheet). 

9. Half an hour extra should be given to Visually 

handicapped candidates only. 
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Rough Work! 



Mental Ability 

Directions: (1-8) - There is a number series following fthr : 	 (1 - 8) f9-  uTut t 
a pattern. One place is left blank. Find the correct nn.fl 	f* 	f* 	H' 	s' 	 I 	rr3t  w 
answer from given options: t RJ1 

1. 65,64,60,51,35, 1. 	65,64,60,51,35............. 
(1) 	15 (2) 10 (1) 	15 (2) 10 

(3) 	20 (4)25 (3) 	20 (4) 25 

2. 5,16,51,158, 2. 5,16,51,158............. 

(1) 	474 (2)478 (1) 	474 (2) 478 

(3) 	481 (4) 483 (3) 	481 (4) 483 

3. 2,1,4,3,6,5,8, ____ 3. 	2,1,4,3,6,5,8.............. 

(1) 	9 (2)10 (1) 	9 (2) 10 
(3) 	7 (4) 11 

(3) 	7 (4)11 

4. 1,2,10,37,101, 4. 	1,2,10,37,101............. 

(I 	215 (2)218 (1) 	215 (2) 218 
(3) 	226 (4) 229 

(3) 	226 (4)229 

5. 2,6,30,60,130, 
5. 	2,6,30,60,130................ 

(1) 	180 (2) 200 
(1) 	180 (2)200 

(3) 	210 (4)230 
(3) 	210 (4) 230 	.., 

6. 28, 34, 35, 37, 41, 6. 	28, 34, 35, 37, 41................. 

(1) 	46 (2)49 (1) 	46 (2) 49 

(3) 	42 (4)44 (3) 	42 (4) 44 

7. 4,10,28,,244,730 7. 	4,10,28. ................ 244,730 

(1) 	88 (2)90 (1) 	88 (2) 90 
(3) 	82 (4)78 (3) 	82 (4) 78 

8 . 2,3,5,7,11, 
8. 	2,3,5,7,11, 

(1) 	12 (2) 14 (1) 	12 (2)14 
(3) 	16 (4) 13 (3) 	16 (4)13 

Directions (9-11) - 	 The letters follow a definite ias : (9 - 11) f# 	ur@t hir ff3c [a1d p-U- 

pattern. Find the missing letters to complete the ãirT 4WRT6 J7 I f 	1 9.  
pattern. mj9. f otj ift #T at I 

9. 9. 	a 	babbabaab 

1) 	aaabb 	2) babab aaabb 	2) babab 

3) 	bbaab 	4) baabb 3) bbaab 	4) baabb 
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10.2 5 114 3 2 5 1 

(1) 354321 	(2) 123452 

(3) 345234 	(4)542341 

11.c bba cab ac ab ac 

(1) bcbac 	(2) cabcb 

(3) accbc 	(4) acbcd 

12. If PAINT =74128, EXCEL =93596 then ACCEPT=? 

(1) 455978 	(2)459578 

(3) 457958 	(4) 459758 

13.If HANDWASH =225, SANETIZER=81 then 

VITAMINCD =? 

(1) 196 	 (2)256 

(3) 324 	(4)169 

14.A boy who was born on 29" February 1896, when did 

he celebrated his first birthday? 

(1) 291  February 1897 

(2) 29" February 1900 

(3) 2911  February 1904 

(4) 2911  February 1908 

15.What was the day of week on 9 11,  October 1944? 

(1) Friday 	(2) Sunday 

(3) Tuesday 	(4) Monday 

Direction: Using the relation between the items 

which of the followii*g is most suitable diagram 

(16-18) 

a0 0 00 (3 @ 0  
(1) 	(2) 	(3) 	(4) 

16. Flowers, Clothes Red 

17. Mountains. Sea, Island 

18. Earth, Fcrest, Mountain 

Directions: (19-22) - Developing relationship among 

items on the left side of sign :: find re!atioship 

on the right side of : by choosing from given 

options 

19. Contamination: food: : infection:? 

(1) Germs 	(2) Disease 

(3) Body 	(4) Microbes  

10. 2 5 114 3 2 5 1 

(1) 354321 	(2) 123452 

(3) 345234 	(4) 542341 

11. c bba cab ac ab ac 

(1) bcbac 	(2) cabcb 

(3) accbc 	(4) acbcd 

12. if PAINT =74128, EXCEL =93596 then ACCEPT=? 

(1) 455978 	(2) 459578 

(3) 457958 	(4)459758 

13. If HANDWASH =225, SANETTZER=81 then 
VITAM[NCD =? 

(1) 196 	(2)256 

(3)324 	(4'169 

14. f 	29 Z d'dl 1896 5 i' 

i.ffiw 	rf 	wf 	ft? 

(1) 29ddl 1897 

(2) 29ddl 1900 

(3) 29 ddl 1904 

(4) 291908 

15. 	9 1cft1d 1944 	T 1°J t  f 	ft? 

(1) 	 (2) 	1'd 

(3) 	HdI'd 	(4) 	MfqTa 

: 	jT f 	frtr )I ti 	6  aTCT,  ;0-  F-  f- 
{E? (16 - 18) fu ftr 	 foicj' 

00 	 0 
I 	

0 

(2) 	(3) 	(4) 

i( 	, 

ft 17. 1.gr,  R'f, ?T 

18. tijI- , 	T, UW 

fod ~ JT  
f4v ft•1T T9'fU3 	ft5)i:: 

nTh u* vrFTW 	 f Q-ft w 
r9Tfu 	t rr 	1cc.i 

19. 

(2) 	f).frj 

(3) 	Rt 	(4) MWOV  
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20. Arc: Circle: :line:? 20. 1TV:?. :'c: 	? 

(1) 	Point 	(2) Rectangle (I) 	th 	 (2) 	4ft9 

(3) 	Ellipse 	(4) Sphere (3) 	 (4) 	TF 

21.85:40::77:? 21. 85:40::77:? 

(1) 	44 	 (2)48 (1) 	44 	 (2) 	48 

(3) 	49 	 (4) 50 (3) 	49 	 (4) 	50 

22.8:32::l0:? 22. 8:32::l0:? 
(1) 	42 	 (2)50 (1) 	42 	 (2) 	50 
(3) 	44 	 (4)60 (3) 	44 	 (4) 	60 

Direction s(23-25) - Cube of edge 12cm is painted IOd : (23 -25) f 	12 	r} 	1' 
on all of its faces and then divided into number of 1rrp& 	Tfpp 	if 	2 TD{IoC6' 	'U1 

cubes each of edge 2cm, based on this answer f jU'fdc 1JTi ?f@I 
the following questions : 

23. 
23. How many cubes have only two faces painted? 

(1) 	48 	 (;) 	So 
(1) 	48 	 (2)56 

(3) 	54 	 (L) 	 8 
(3)64 	 (4)8 

24. How many cubes have no face painted? 24. U 	 T 	?  

(1) 	56 	 (2) 48 (1) 	56 	 (2) 	48 

(3) 	96 	 (4)64 (3) 	96 	 (4) 	64 

25. How many cubes hae at 1cat two faces painted? 25.  fWT U12:•  M7 	Ur? UT? 	WP 
(1) 	56 	 (2)48 

(3) 	96 	 (4)64 (1) 	56 	 (2) 	48 

(3) 	96 	 (4) 	64 
Directions(26-30) - find the missing item that will fód*i 	(26- 30) 	 Rtt 1cWi2l 

come in place of question m"--.-k? I 

26. 184 I [1 188 I 26. 184 I 1 81 	1 188 I 
[12 

l••t 
 

	

(1) 16 	 (2) 	21 

	

(3) 24 	 (4) 	22 

	

1 	 4 	 1 
27. 	

2 5 	I 0 	8 	I 	2 

583 	 805 

3\  

(1' 
,XTA\ 	/T''o 

5 	 2 	 7 

	

(1) 760 	(2) 	425 

	

(3) 875 	(4) 	607  

Ll 2] I1 1  2J r? 1111 
(1 	1 	 (2) 	21 

24 	 (4) 	22 

27•:*: , 

	: : 

(1) 	760 	 (2) 	42 

(3) 	875 	 (;) 	607 
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2 28. MEN 
Egg 
Aug 

Au' 
Egg 
MEN 

(1) 	42 	(2) 	44 	 (1) 	42 	 (2) 	44 

(3) 	46 	(4) 	48 	 (3) 	46 	 (4) 	48 

29. 

30. 
30. 

9 	
45 

21  

/  

15 

(1) 	8 	 (2) 	10 

(3) 	14 	 (4) 	16 

A3 	C4 	F17 

H5 	J6 

P8 I  R9 r721  

/ 21 

(1) 	8 	 (2) 	10 

(3) 	14 	 (4) 	16 

A3 	C4 	F17 

H5 	Jo 	
? 

P8 	R9 	U72 

(1) M42 	(2)M48 	 (1) 	M42 	(2) 	M48 

(3) N64 	(4)M33 	 (3) 	N64 	(4) 	M33 

Directions (31-33) - Following questions are based 	f6dtfi : ( 31-33)t 	HJ 1 ?1&1'rd. 

upon multiplication. Each letter has unique value 
and for unique value, there is a unique letter. 	U1 

a. 

AMD 
AMD 

xDA 
xDA 

MPR 
MPR 

+ 
+JMS x 	

JMSx 
 

31. Value ofA 	BPSR 	
31. 	A1-fH 	

BPSR 

(1) 	5 	 (2) 3 	 (1) 	5 	 (2) 	3 
(3) 2 	 (4)8 	 (3) 	2 	 (4) 	8 

32.Value of P 

(1) 	8 	 (2)7 	
32. 	P 	h{  

(3) 0 	 (4)3 	 (1) 	8 	 (2) 	7 

(3) 	0 	 (4) 	3 
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33. Value ofB 33. 	Bth{3 

(1) 	7 (2)8 (1) 	7 (2) 8 

(3) 	5 (4)3 (3) 	5 (4) 3 

Directions (34-35) - Find correct group of signs to IOd 	ii 	: (34 - 35) mff t 	ec 

solve the equation. f?T UT U1W mnr A6 ,  T- i 

34. 24 * 34 * 2 * 5 * 12 34. 24*34*2*5*12 

(1)+ 	x= (2) 	+= -  (1)+ 	X (2) +=- 

(3) 	+- (4) 	+ (3) =±+ -  (4) --+ 

35.7*4*8*2*24 35. 7*4*8*2*24 

1)X 	+ (2) 	+ - =X (1)X ~ + (2)+-X 

(3)X=± (4) 	x+- (3) X=--. (4) X+ —= 

36.A person is facing northwest. He turns 900  in 36. 
the clock wise direction and then turns 

180 1anticlockwise direction and now turns 90 1  

in the same direction. In which direction is he 

facing now? 

(1) Southwest 	(2) West 

(3) South East 	 (4) South 

37.A and B start walking from a point in opposite 

directions. A covers 3km and B covers 4km, then 

A turns right and walks 4 km while B turns left 

and walks 3km. How far is each from the starting 

point? 

(1) 4km,5km 	(2)S km, Skm 

(3) 10km, 4km 	(4) 8km, 4km 

38.What will be the angle between the hour hand and the 
38. 

minute hand of a clock when the time is 3:27. 

1 0 	 1 0  
(1) 58— 	(2)47—  

2 	 2 

(3) 600 	(4) 57° 

39.In a chess tournament each of seven players will play 

with every other player exactly once. How many 

matches will be played during the tournameit? 

(1) 12 	 (2) 14 

(3) 21 	 (4) 18  

f 	 du 1.f){ 	#r 	I Qu  uaft 

	

feW 	900 	T)3f ft-6 QU u 

ift Z3? ?W f 	1800  j){ 	?fl ft• 90° 

	

fw f 	T 	 j fcM fJW f 
V fur  U, ? 

(1) 	-){ 	(2) 	IfUg 

(3) 	 (4) 

f' 
U? I A, 3km )fl  B, 4Km 	' I fuff 3-  

8ThW A R-Fr KaW 4km Wa B * 	3 l 
u 	 7J 	)3.fTUt W.d 	fk 

3: 21 .Ej- u - 	iifft Tj  Rlft )f• f51?t 
f*q f& 

1 0 	 1 0  
(1) 	58 — 	(2) 47- 

2 	 2 

(3) 	600 	 (4) 	570  

ftHt1 TffFWZf7 frrwt 
I 

(1) 	12 	 (2) 	14 

(3) 	21 	 (4) 	18 

(1) 4km,5km 	(2)S km, Skm 

(3) 10km, 4km 	(4) 8km, 4km 
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40.A mirror is placed in front of the clock, the clock shows 

time 5:40. What time will be of its reflection in the 

mirror? 

(1) 4:40 	(2)6:40 

(3) 6:20 	(4)7:20 

41. How many numbers from 3 to 90 are there each of which 

is exactly divisible by4 and also its one of digit as 4? 

(1) 21 	 (2) 10 

(3) 20 	 (4) 7 

42.Anuj is tweith from the right and fifth from the left in a 

line of boys. How many boys should be added to the 

line such that there may be 30 boys in a line. 

(1) 16 	 (2)14 

(3) 15 	 (4)12  

40. ft 0 'i 	WTh1t Fftw M6P1T  U,  I 

f* 5:40 	 fER11 
HW1tHdI'? 

(1) 	4:40 	(2) 	6:40 

(3) 	6:20 	(4) 	7:20 

41. 3 W9 90 IJo( 'd HfiIiJ jj)Ø  1f4fW 	4 

	

'dI unQio 	 4 ti 

(1) 	21 	 (2) 	10 

(3) 	20 	 (4) 	7 

42. fr "9140 ift BrU7 	lJTf 12 

l4*.1h1HQ 5 	 Iftrrc&d f1fc 
}4 T c6 Id f30)fWI 

(1) 	16 	 (2) 	14 

(3) 	15 	 (4) 	12 

Directions (43-45) - A is son of B. B's sister C has a 	: ( 43-45) A, B Ur 	, B ift 	C Ur 	ff 
son D and a daughter E. F is the maternal uncle 

of D. Based on above information answer 	 . 
questions (43-45) 

f1dH'? 43. How is A related to D? 	 43. A UT D  
(1) 	li-' 	(2) 	¶d' 

(1) Nephew 	(2) cousin 

(3) Uncle 	(4) brother 	
(3) 	){rHT 	 (4) 	TdT

f  44. How many nephews does F have? 	 44. F 	TA ;A ('ii)R?  
(1) 	tfr 	(2) 	3 (1) None 	(2)3 

(3) 1 	 (4)2 	
(3) 	1 	 (4) 	2 

45. How is E related to F? 	 45. EF?'if1dH& ? 

(1) 	1A 6M 	 (2) 

(3) 	q314 ('4) (4) 3f 

f* f6HRJ JrV f, BEAT YVZG ftfr 

i-I'dI' 	? 

(1) 	ONRW 	(2) ONWR 

(3) 	NROW 	(4) NOWR 

f 	REASON 	5 4F13T BELIEVED 

GOVERNMENT 	ffP i-I'dI'? 

(1) 	8 	 (2) 10 

(3) 	9 	 (4) 6 

(1) wife 	(2) Sister 

(3) Niece 	(4) Daughter 

46. In a certain code, BEAT is written as YVZG then 46. 

what will be the code of MILD? 

(1) ONRW 	(2)ONWR 

(3) NROW 	(4) NOWR 

47. if REASON is coded asS and BELIEVED as 7 then 

what is a code for GOVERNMENT? 

(1) 	8 	 (2) 10 

(3) 	9 	 (4) 6 
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48. If sky is called sea, sea is called water, water is called 48. 	 ? FPdId, WdTa 5 U• 1, UT.9. 

air , air is called cloud, cloud is called river then what 7JT 	jT 	3T 

we drink when thirsty? fi.PflT)T 	cii 	wt Eft 0 ''cl ? 
(I) 	Sky 	(2) Water (1) 	 (2) 	W9. 

(3) 	Air 	(4) Sea (3) 	 (4) 

49. If in a certain code :  49. 	f* 1oi1id 
'Where ate you 	' pit ka ta'  'Where 	 'pit are you' 	writtl 	s 	ka ta' 

ft 

'Are they there''sa da ka' 
'Are they there' written as 'sa da ka' 

'They may come' 	'da naja' 
'They may Cne' written as 'da na ja' d 	&- 	f -  there f* ffw 
Then how' there will be written in that language? 

(1) 	da 	 (2) sa (1) 	da 	 (2) 	sa 

(3) 	ka 	 (4) ta (3) 	ka 	 (4) 	ta 

Directions (50-53) - Read the information carefully fa d 	i : 	f 	9 	'ecu cii 	 {ES (50 

and answer questions (50-53). Six persons are 53.; 	3T ?ErQ I 	1T) 9 	ft 
sitting in a circle. A is facing B. B is to the right of ri A,B * 	ju aw VZ5T  U I B,E 	rt l.P* 
E and left of C. C is to the left of D. F is to the right C 	 I C, D 	* l.IT}t U I F, A 
ofA.Now D exchanges his seat with F and E WF U IDf 	 BP4Tff1Zi 
exchanges with B. I 

50. Who will be sitting to the left of D? 
50 	D 	1.P* 	 ? 

(1) 	B 	 (2)F (1) 	B 	 (2) 	F 

(3) E 	 (4)A (3) 	E 	 (4) 	A 

51. Who will be sitting to the left of C? 51. 	C 	* vt 	5T 	? 
(1) 	E 	 (2)F (1) 	E 	 (2) 	F 

(3) 	A 	 (4)B (3) 	A 	 (4) 	B 

52. Who will be sitting opposite to A? ___ ___ 
52. A 	 o' 	? 

(1) 	E 	 (2)F 
(, 	E 	 (2) 	F 

(3) 	D 	 (4)B (3) 	D 	 ('+) 	B 

53.Who will be sitting opposite of C? 53. 	C 	Rmwzt7  8rT tw tt ? 
(1) 	E 	 (2)D (1) 	E 	 (2) 	D 

(3) 	B 	 (4) A (3) 	B 	 (4) 	A 

54. Which of the following words can be formed from 54. 	ffr'-  f 	1' MiV CORRIGENDUM 
CORRIGENDUM? fT 	? 
(I) ERROR 	(2) MURDER (1) 	ERROR 	(2) 	MURDER 

(3) DANGER 	(4) GENDER (3) 	DANGER 	(4) 	GENDER 
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Iódtflf 	f 	f- 	)1TT 	 i-i'eo1' 	m{ 
1.fE6+ - q37U f 	(55 - 58) 

Direction : Read the information represents by 

Figure and answer the questions(55-58) 

In figure, rectangle, square, circle and triangle represents 

the regions of wheat gram, maize and rice cultivation 

respectively. 

55 which area is cultivated by all four crops? 

(1)7 	 (2)8 

(3)9 	 (4)2 

56 Which area is cultivated by wheat and maize only? 

(1)8 	 (2)6 

(3)5 	 (4)4 

57 which area is cultivated by rice only? 

(1) 1 	 (2) 2 

(3) 5 	 (4) 11 

58. Which area is cultivated by rice and maize only? 

(1)9 	 (2)8 

(3)2 	 (4)7 

Directions: Study the given information carefully and 

answer the questions (59-63). 

- Six friends P,Q,R,S,T and U are the members of a 

club and play different games football, cricket, 
Tennis, Basketball, Badminton and Volleyball. 

-T who is taller than P and 5, plays tennis. 

-The tallest among them plays basketball 

-The shortest among them plays volleyball. 

-Q and S neither play Volley ball nor Basketball. 

-R Plays Vollyball 

-T is between Q who plays football and P in order of 

height. 

59. Who among them is taller than R but shorter than P? 

( 1 )Q 	 (2)U 

(3)S 	 (4)T  

	

95ft 4r19'  3 I 	 ui 

	

ss. fr 	f #U w 	i' Ur @ si.P 

	

(1) 	7 	 (2) 	8 

	

(3) 	9 	 (4) 	2 

56.  

	

(1) 	8 	 (2) 	6 

	

(3) 	5 	 (4) 	4 

57. fr 	f 	I 	
T 	u? 

	

(1) 	1 	 (2) 	2 

	

(3) 	5 	 (4) 	11 

58. four 	fv 

	

(1) 	9 	 (2) 	8 

	

(3) 	2 	 (4) 	7 

rod 	;TfIud1?Uf 1 T 

(59 - 63) 

VV_ *f vot iruv m  ir 	 foH, 
I 	, F11Z? 	 ' t .5 	 I 

-T1i-j' 

- 	 'W I 'HoC 	'5 f 	I 

	

- Q 	S 	?P T 	115 	ft 1'HcI'5 	UI 

- R'1i'U  

- T, Q 	 T ){ P 	iáH'd, IJc'd 

i'Q' 4 i 

59.  

	

(1) 	Q 	 (2) 	U 

	

(3) 	S 	 (4) 	T 
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60. Who will be at the second place if they are arranged in 

descending order of their heights? 

(1) Q 	 (2)R 

(3) S 	 (4)T 

61. Who among them plays basketball? 

(1)Q 	 (2)R 

(3)T 	 (4)U 

62. Who among is shortest in height? 

(l)P 	 (2) Q 

(3)R 	 (4)S 

63. Who among them is longest in height? 

(1)1 	 (2)U 

(3)P 	 (4)S 

Directions : (64-65) In each of the questions Arrange 

the given words in alphabetical order and choose 

the one that comes last. 

64. (1) 	Butter 	(2) 	Butler 

	

(3) 	Button 	(4) 	Butcher 

65. (1) 	Colon 	(2) 	Collective 

	

(3) 	Colloid 	(4) 	College 

Directions : (66-67) From the given words, select 

the words which cannot be formed using the 
letters of the given word. 

66. DISTRIBUTION: 

(1) TRUST 	(2) 	SITUATION 

(3) TUTION 	(4) 	DISTURB 

67.ARTICULATES: 

(1) COURTS 	(2) 	LATER 

(3) TALES 	(4) 	ARTICLE 

68. The six faces of the die have been written with 
alphbets A, B, C, D, E and F respectively This die is 
rolled down three times as shown in figure. Find the 
alphabet Opposite to A. 

(I) 	(II) 	(III) 

(1) B 	 (2)C 

(3) D 	 (4)E  

60.  

(1) 	Q 	 (2)R 

(3) 	5 	 (4)T 

61. EP Hc'5 	rT U? 

(1) 	Q 	 (2) 	R 

(3) 	T 	 (4) 	U 

62. 'w? 
(1) 	P 	 (2) 	Q 
(3) 	R 	 (4) 	S 

63.  

(1) 	T 	 (2) 	U 

(3) 	P 	 (4) 	S 

IádtUl : (64-65) utzr ZFFF?7{dIl 

H' d 	f f 	f5f 	')1Th9 	QH 

64. (1) Butter (2) Butler 

(3) Button (4) Butcher 

65. (1) Colon (2) Collective 

(3) Colloid 4) College 

f: (66-67) 	 f# 	s FMV 

66. DISTRIBUTION: 

(1) 	TRUST 	(2) 	SITUATION 

(3) 	TUTION 	(4) 	DISTURB 

67. ARTICULATES: 

(1) 	COURTS 	(2) LATER 

(3) 	TALES 	(4) ARTICLE 

68. f*'lH 	 1dIdtIl Vff FHTFr V-

M-tff A, B, C, D, E 4fa F ?'W W"F faPfr U I 

'1H 

1d Wa foiTftwr fmirri 

(1) 	(II) 	(III) 

(I) 	B 	 (2) 	C 

(3) 	D 	 (4) 	E 

9 



69. Given below are the two different positions of a dice. 
Find the number of dots on the face opposite to face 
bearing 3 dots? 

f
oe 

00 	
so 

	

(1)1 	 (2)6 

	

(3)4 	 (4)5 

70. How many triangles are there in the figure given be-

low? 

	

(1)4 	 (2)12 

	

(3) 16 	 (4) 10 

Directions : (71-72) In each of the following ques-

tions choosc the correct water-image of figure (X) 

from a;ioist four given alternatives. 

71. 

N 

LJ 
(V S  

_ 

! I 
(1) 	(2) 	(3) 	(4) 

72.  

(X) 

i  0 	0 	17 

	

1 17 	0 [El 
(1) 	(2) 	(3) 	(4) 

Directions (73-75) In each of the following ques-

tions a paii of questions figure is missing. Choose 

the correct answer figui to complete tile ques-
tion Cgu that' can reiae? 

73. 
(Question Figue) 

(swer Figure) 

(1) 	2) 	3)  

69. JoT 	ji 	f 4V )1{1 	fT 

I ffr.T f?c 	fTj)4 f& 	eii' W 

141T UVUF? 

(I) 	(H) 

(1) 	1 	 (2) 	6 

(3) 	4 	 (4) 	5 

70. fId f1 	f1dIdl *? 

KL 
(1) 	4 	 (2) 	12 

(3) 	16 	 (4) 	10 

IOdtH (71-72) D 	 is fr 

71. 

Ic_ 
irpç 

72. MI 

(X) 

(U 

tq..~ WO 	I NW, 

ía a 	(73 - 75)_3+ f 	 I d 

	

r f 	 f 	f 
t 

(Qd f) 

	

• 	U 

	

Eu 	•I JI 
10 



Lou 

A 

MISR 

(1) 	(2) 	(3) 	4) 

(Answer Figure) 

Ir rI 
Directions : (76-78) Find the figure from Answer 

figures which will continue the series in questions 
76. 

(Question Figure) 

n'6 106  na- o* 	: 
(a) 	(b) 
	

(c) 	(d) 

(Answer Figure) 

L+' Ri0 

(1) 	(2) 	(3) 	(4) 

(Question Figure) 

r  

- 	

~31 
(a) 	(b) 	(c) 	(d) 

(Answer Figure) 

h- 1 n % r1n 
(1) 	(2) 	(3) 	(4)  

(E 

'I  R/1N/INAN/1 
NNkN 

(I) 	(2) 	(.3) 	(4) 

75.  

	

I a i 	Lv'iiV 	\Jy 
(1) 	(2) 	(3) 	(4) 

I6d @ H : ffd' 	 1 
fr ? 	Th f#u Fffl-g-a-,g-  4F R (76-78) 

76.  

(pr? 1dd) 

LO  0 Eol--,,]   0 
	0 _ 

(a) 	(b) 	(c) 	(d) (Q ' d 1d)  
i
re 

  

(1) 	(2) 	(3) 	(4) 

77. (uB?f) 

UI' 
(a) 	(b) 	(c) 	(d) 

(Qd IcJ) 

tvj1 r?lnl 
(1) 	(2) 	(3) 	(4) 

11 



78. (Question Figure) 

L~ X? L? —S,LX4 
  

.x  

(a) 	(b) 	(c) 	(d) 

(Answer Figure) 

•JM"    •XA

S S V 

(1) 	(2) 	(3) 	(4) 
Directions : (79-81) Find the different from others. 

79. 

(1) 	(2) 	(3) 	(4) 

so. 

x x 
(1) 	(2) 	(3) 	(4) 

51 

(1) 	(2) 	(3) 	(4) 
Directions : (82-84) In each of the following questions 

there are three figures X, Y and Z showing a sequence 

of folding a piece of paper. Figure Z shows the manner 

in which the folded paper has been cut. These figures 

are followed by four other figures from which you 

have to choose a figure which would most closely 

resemble the unfolded form of figure (Z). 

82.  

78. (r 	1d) 

.x S 
Ln, ? 'o  

A 
IX lx--;A -]

___ 

(a) 	(b) 	(c) 	(d) 

(Qd Id) 

•X/\ •XA 	

M 
 
  y ' 

(1) 	(2) 	(3) 	(4) 

1ódt :1 (79-81) 
79. 

is  =Oi 
(1) 	(2) 	(3) 	(4) 

11xH4  

(1) 	(2) 	(3) 	(4) 

81 iU:Jll  H1 1U 1  
(1) 	(2) 	(3) 	(4) 

lOd tf : (82 - 84) D f 	rx 	fft f 
d1f11T 

I 	z -*WM-ff thr 	 I I 

f 	fr  f 
Id 

LA W v  4z  -9 (1) 	 (2) 

12 



83. 	 83. 

(3 014v ivI:  
(1) 	(2) (3) 	(4) 	( 1•) 	(2) 	(3) 	(4) 

94-a 10 

(1) 	(2) 	(3) 

84. ][ .:......:....  

±± z 
Fo LF ol 	 0 	

0 0 

0  

(4) 	(1) 	(2) 	(3) 	(4) 

Directions : (85-86) In each of the following fc'JH : ( 85 - 86) i5' ftt UThr ipr f* f 

questions, Find the figure, out of the answer fZiW 	JT f14 ft 	# 

figures that can be formed by joining the pieces 	ftV f 	 j--  I 
given in question figure. 	 85. 

85.  
(Question 	 (Q d f)

(Answer Figure)  
Figure) 	

D 	
) 

__ 

I  I 	 J  I 	 I 1 	 (1) 	(2) 	(3) 	(4) 

86. 
- 	(Question 

Figure) 

EIAN 
(1) 	(2) 	(3) 

(Answer Figure) 

VAN MaRTIA 
Lz a a &V-A n PAN 

(Qd f) 

LW-48 MOR O f  F-A 
(1) 	(2) 	(3) 	(4) 

foci t R : (87-88) fEJ• - i -  U f 

W-q-rfta VF-Fr -  

87. affF :  

wPn 	 cia 

(I) 

(II) cia 

1. - mTI 

2.fZII 

3. 1U? -

4.Zl II39I 

(1) 	(Z) 	(i) 	(4) 

Directions : (87-88) Keeping in mind that the state-

ments given to be true even if they are variant 

from common known facts. Based on the state-

ments, answer the questions? 

3. Statements: 

All candles are boxes 

All boxes are pens 

Conclusion 

(I) All pens are candles 

(II) All candles are pens 

(1) If conclusion I Follows 

(2) If conclusion II follows 

(3) If both conclusions follows 

(4) Either conclusions I or II follows 

(4) 	
86. 

,M)
f)  

13 



88. Statements: 

All fans are watches 

Some watches are black 

Conclusion 

(I) All watches are fans 

(II) All fans are black 

(1) If conclusion I Follows 

(2) If conclusion II follows 

(3) If both conclusions follows 

(4) Neither conclusions I nor II follows 

89. A printer number the pages of a hook starting with 1 

and uses 3189 digits in all. How many pages does the 

book have? 

(1)1000 	(2)1079 

(3) 1078 	(4)1074 

90. In a group of cows and hens, the number of legs are 

14 more than twice the number of heads, find the num-

ber of cows. 

(1) 5 	 ( 	7 v- I 

(3) 10 	 (4) 	12 

Directions : (91-94) All the roads of a village are either 
parallel or perpendicular to one another and are all straight 

roads, Roads Parallel to one another are A,B, C,D,E. 

Roads G, 1-1, 1. J, K, L, M are p9rallel to one another. 

1. Road A, is 1 km East of B 

2. Road !, is 	km West of  

3. Road D, is 1 km West of E 

4. Road Gis km South ofH 

5. Road I is 1 km North of J 

6. Road K is km North of L 

7. Road K is 1 km South of M 

91. Which is necessarily true 

(1) D is 2 km west of B 

(2)Mis 1.Skm north ofL 

(3) E and B intersect 

(4)1 is 1 km north of L  

88. 

UCT 

ul17± 	T 	t 

ffrzr: 
UF (1) 	:tuç4i 

(II) 

2.[f1I ZTC7 4' 

4. T II1I 

89. 	 Rjf 

o(dt' U a a-F 3189 	? 	 I QR 11 f 

(1) 	1000 	(2) 	1079 

(3) 	1078 	(4) 	1074 

90. &tfdT 

rdlddl 	tdId t 14 tr I 

IdIdl 3TI 

(1) 	5 	 (2) 	7 

(3) 	10 	 (4) 	12 

I6dH : 	 Wftri 

R53P f 	 A,B,C,D,E 
UIH 

1. Y1 	A, B t 1 km UFF 

i){ 

3. YT 0, E 1 f A. ir 

4.GH 

1 J.-- ff. 	dcl 	F 

6. TT 	K, L 	fff. @-6 ,d 

7. FF 	K. M tl 1 f A. 	VF UZI 

91. 	1J'ilRft 
(1) 

(2) M, L 3__* 1.5 f37A. ftd 	U3  

(3) 

(4) 1, L t 1 f37.41. 
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92.If road E is between B and C, then distance between 

A&Dis 

(1)1km 	(2)1.5km 

(3) 1.5-2km 	(4) 1/2 km 

93. Which of the foliwing possibilities make two roads 

coincide? 

1 
(1) E and B are 	km apart 

(2) D is 	km east of  

92. irE( Tt 	E, B )3{  C 1c d UZI  3t A 4ft D 

1J51 	. 

(1) 	1 k 	(2) 	1.5 kin 

(3) 1.5-2kin 	(4) 	1/2km 

93. f9'r * 	 ftrwr 

UN ? 	
1 

(1) E5  4fU B 	 UT 

(2) 

(3) 	L,I 	Q:ftif 
(3)Lis 	km North ofl 

(4)Cis 1 km west ofD 

94. If E is between B and C. which of following is false? 

(1)D is 2 km west of A 

(2) D is less than 1 km from B 

(3)Eis less than I km from A 

(4) C is less than 1.5 km from D 

Directions : (95-96) In each of the following questions, 

there is a figure (X) with two dots placed in it. This 

figure is followed by four other figures. only one of 

which is such as to make possible the placement of 
the dots satisfying the same conditions as in figure 

(X). Choose the correct answer figure in each case. 

E4D E'~V 
(1) 	 (2) 	(3) 	(4) 

(X)  

(4) 	C,Difft.rf 

94. 	E, B 	C 	1c 'd 	t 	fi 
IccJ 4. dI 

(1) D,A2fft.i[  VF U3  

(2) D,B1f Th 

(3) 
(4) 

16dtH 

J5 

1fflTWHcft II 

95. 

E 
	 _ 

E 	E 
(1) 	(2) 	(3) 	(4) 

(1) 	(2) 	(3) 	(4) 
	

(1) 	(2) 	(3) 	(4) 

1.5 



NZ 

(1) 

(3) 

A 

E 

(1) 

(3) 

16 

1:1 	(2) 	4:3 

2:1 	(4) 	2:3 

	

1:1 	(2) 	4:3 

	

2:1 	(4) 	2:3 

fOd t Fr: (97-98) -3-i- 	U Thr VRT f#U w• 

f - 	f* 	f 	f 	f -fr 	f 	fiR 
fr f 	1cJá' 	f 	 Icidd 

Directions : (97-98) In each of the following ques-

tions out of 4 figures, three are similar in a certain 

way and one is not like others. Find out the figure 

which does not belong to the other three figures. 

F+I(  Fs( 	mA 

(1) 	(2) 	(3) 	(4) 

98.

 
(1) 	(2) 	(3) 	(4) 

99. When the given figure is converted to cube then which 

will be the correct alternative. 

(1) 	(2) 	(3) 	(4) 

98 

99. 	 dl' 

- 	 m 	i 

[A  E 	
E E D 	

B 
C 
 E  A 
	

[A  E 	
B E E D 
	

B 
C 
 E 

 A 
B 00 00 B  0000 
iiLD 	(1) 	(2) 	(3) 	(4) 	L1ii 	(1) 	(2) 	(3) 	(4) 

(l)AOnly 	(2)Bonly 	 (1)A 	 (2)B 
(3)A and C 	(4)A, B, Cand D 

	
(3)A{@C 	(4)A,13,C 	D 

100. How many Rectangles (excluding Square) are there 100. M 6 d 	ddI' t fr f 	rrf UcT 
in the given figure? 
	

/ 

	

(1)19 	 (2)23 

	

(3)20 	 (4)22 

SCHOLASTIC APTITUDE TEST 

101.The ratio of the effective resistance between the 

terminals A and B of the given circuit with key open 

and then k, closed is given by 

(1) 	19 	 (2) 	23 

(3) 	20 	 (4) 	22 
l.rldI 

101. ft 	Hdc 	 ft K 	f 	)f@ UT4FF 

f*r 	 A 	B 	d 

UIdu1 T ){ 	JdI' I 



102. Which of the following statement is correct? 

(1)A person with Myopia can see distant object clearly 

(2)The eyes must be removed within 10-15 hours after 

the death of eye donor 

(3)Cataract is the condition of eye when the crystalline 

lens of some old age people become milky and cloudy 

(4)A student sitting in the last row of classroom cannot 

read clearly the letters written on black board due to 

Hyper metropia. 

103. The distance travelled by a body in last two seconds 

of its motion in straight line is what fraction of the total 

distance covered in 7 seconds in the given velocity time 

graph. , 
10!.......................... 

8 

C.) 

2 3 4 5 67 
Time (s) —+ 

2 
(2) 

1 	 1 
(3) 	 (4) 	

2 

104. A Body has a negative charge of 1 pc. It means the 

body has gained 

(1) One electron 

(2) 106  electrons 

(3) 6.25x 108  electrons 

(4) 6.25x 1012  electrons. 

105. Which of the following graphs best represent the 

graphical relationship between Kinetic Energy (K.E) 

and momentum (P) of a body in motion? 

102. T,5T f 	319 e)i f4t fcj' 	YRIt I 

(1) ro 	ItHl Ec('d 

W 	f )lo(t" TI 

(2) dO -r  f 
T)f 10-15 iFfe)l# f4V irr v 

UtTeN# U,51 

(3) Rtf4F thi u H1k1 U 	91 

!t' 

(4) ft fpit 	ItHcl B 3'd6 TW 

'd 

103. f 	U 	r*rt 	 rr pff 

2 i1 	fU 	f 	 , Fr: 	7 

ctri' 

1  

8 

2 3 4 5 67 
R){(s) —> 

2 

	

( 1 ) .- 	 3 

	

1 	 1 
(3) 	 (4) 

	

104. fT 	I ,uc f T3 f61 	 I fH 

dlIcJd 	USI 

(1) f1c'o 

(2) 106  1c'ó 

(3) 6.25 X 10 18 1 cá 

(4) 6.25 x 10 12  f'o 

105. f* r1w 	f dII1- Qd-' (K.E.) 

r*i (P) 	rrtr c Ic1J' UPIT )9ft td}1'Qt' 

T ~ 
T 	

T ') 
t 	P 

K. E 	 K. E 	- K. E 	-' K. E 	 K. E 	 K. E 	- K. E 	- K. E 

(1) 	 (2) 	(3) 	(4) 	 (1) 	 (2) 	(3) 	(4) 
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106. Two thin lenses of focal length fl and f2 are in contact 

and coaxial. Its power is same as power of a single 

lens given by 

106. 

i PM& 4t T5 I F F, tow & kJo' M 
FJdfl 

—

fl 2 
(1) 

J+f2 	
(2) 

j+j
2 

fl 	 2 
(3) 	 (4) 

107. A stone is dropped into a well having free water 

surface at depth 44.1 m. The splash is heard 3.13 

sec after the stone is dropped. Find the velocity of 

sound in air (Take g= 9.8 m/s 2 ) 

(1) 339. 2 m/s 

(2) 342 rn/s 

(3) 344. 3 m/s 

(4)341.2mls 

108. Which of the following statement does not describe 

the possible cause of overloading in household circuits 

(I) Accidental hike in supply voltage 

(2) Substantial reduction of current in the circuit. 

(3) Too many electric appliances connected to a single 

socket 

(4) Live wire and Neutral wire comes in direct contact 

109. Abus of mass 2800 kg is travelling at a speed of 90 

km/h. A Retarding force of 5600N is applied on it for 

a distance of lOOm. Its velocity reduces to 

1) 45 km/h 	(2)54km/h 

(3)36km/h 	(4)18.4km/h 

110. The refractive index of medium B with respect to 

medium A in the given figure is given by 

Jcj2 

	
fl  +f 

(I) 	 (2) 

fl f2 	 2 
(3) 	 (4) 

107. 	 T fUU 

RUr 44.1 HIZU tUTTI 	I 

t 	He t 3.13 MU T)XU ie'1 
Tgr fu r 	Tr? (g= 9.8 m/s2) 

(1) 339.2 )ftZ/1& 
(2) 342 )ftzvr 
(3) 344.3 917VA 1oi as 
(4) 3 4 1.2 917VA1c4 

108. UI 	r-15ì Hdc 	f 	*VU ii'1 
1:16 f 	Icji  wit fr 

(1) fw&2,i f1%J6c vmT I 

(2) H d cii i f#U N.IMO tpr i j- 	- 

TTI 

(3) ft ff H 	fr 	m 1.w1 61  

5dJ'Qd 3 

(4) WfZ 	T• w Qt: 1'I 6 	T f)fl 

	

fj )flT 	. 

109. 2800 1c d I ' irr jft ft 	T 90 fff?/ir T  
ift Tt XT5 	I 	 ftT 

W 5600N UT  i 100 HtZT E't 3& 	5Pfë7 

(1) 	45krnJh 	(2) 	54 km/h 

(3) 	36 km/h 	(4) 	18.4km/h 

110. f 	MB d f47 ).PftPfl){ B ){'ftN){ A TTF 

RTi1 	9'd6 {E( cJdl' I 

(I) 

1 
(2) 

(3) 

I 
(4) 

MA 

1 
(2) 

(3) 

1 

(4) -72= 

18 



ill. A block of wood having mass 15kg and dimensions 

40cm x 30cm x 20 cm is kept on a table top. It is made 

to lie on the table top in three ways with its sides of 

dimensions 

(a) 40cm x 30 cm (b) 3ocm x 20 cm 

(c) 20cmx 40cm. 

The pressure exerted by the wooden block on taste 

top will be 

(1) Maximum for way (a) 

(2) Maximum for way (b) 

(3) Maximum for way (c) 

(4) Same for all three ways  

111. ft e5c1 vr dj c '15 kg 	 ftrrr  
40 cm x 30 cm x 20 cm 	frr ETZ 

TY W17 ø q 1H ' 10 TTF f 	br' f* ccr 

(a) 	40 cm x 30 cm (b) 	30 cm x 20 cm 

(c) 	20cmx40cni 

i 	 TT Ku a FaT<77 vrgr  T?f 

cJdI' I 

(I) 	HIl(a)t1T 

(2) 

(3) H1h1 (c)fttr 

(4) f 	9f34& 5ft 1d' 

112. Figure shows the magnetic field lines of a magnetic 112 c 	 oi1 
field. There are three points A, B and C in this field. 	 çJ} IjT  fi3p1TU, I fr 	f# fj 
Choose the correct option regarding field strength. 	A,BCic1 	f13' ttft1oici' 

(1) Maximum at A and minimum at B. 

(2) Maximum at B and minimum at C 

(3) Maximum at C and minimum at B 

(4) Maximum at A and minimum at C. 

113. Identical packets are dropped from two aero planes one 

above the equator and other above north pole both at height 

h. Now g  and  g  are respectively the acceleration due to 

gravity at these places. Assuming all conditions to be similar, 

If t 1  and t2  are respectively the time taken by packets to 

reach the surface of earth Then, 

(1) t 1 > t, because g < 

(2) t 1 > t2  because g, > g 

(3) t 1  < t2  because g <g 

(4) t 1  < t 2  because g >g 

114. The luster of a metal is due to 

(1) Its high density 

(2) Its high polishing 

(3) Its chemical inertness 

(4) Presence of free electrons  

(1) 

(2) thB ,thVCR3? 

(3) thc *tr,fB Z 

(4) thVA TCR? 

UKU nQ] 	'h' 	 cJ'1 
: ft fr V527  Z W U? 71 iR g. and 

THVra-  40-re 

ftcJo' H4'ó' 	dIdd' J1Ut1 ft, 
T 1T 	 13 

	

'i' MI-F zjV 	W&?W H '6' 	'd 

J'd 	 IcJ' ZMT Rft;dI' I 

(1) t>t IIc(g<g 

(2) t>t:rr g, > gp  

(3) t <t 1cQic g <g I 	2 	e 	p 

(4) t <t IoiQTo g >g I 	2 	- 	c 	p 

114. T-9 ift 	rfl- , ftHt' c('cJO 

(1) Wtt U1T  

(2) t 

(3) wft w1'1ieci Qt'H1a' 

(4) ){J(H.d) f5c'6' ift Hi-ItdI1 cl'dó 

113 
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115. Copper sulphate can be safely kept in a container 

made up of 

(1) Aluminum 	(2) 	Lead 

(3) Silver 	(4) 	Zinc 

Ii 6.Two atoms are said to be iso bars if 

(1) They have same atomic number but different 

mass number 

(2) They have same number of protons but 

different number of neutrons 

(3) They have same number of neutrons but 

different number of protons and electrons 

(4) Sum of number of protons and neutrons are 

same but number of protons is different 

117. The Visible universe is estimated to contain 1022  stars. 

How many moles of stars are present in the visible 

universe 

(1) 1022  mols 	(2) 	6.023 x 10 1 mols 

(3) 0.0166mols 	(4) 	6.022mols 

118. Which set of given elements A, B, C, D, E with atomic 

number. 1. 3, 7, 10, ii belongs to same period and same 

group, respectively. 

(1) A,B.0 and B,C,D 

(2) B,C,E and A,B,E 

(3) B,C.D and A,B,E 

(4) C.D,E and A,B,C 

119. The following compound 1 and 2 with identical 

molecular formula but different structures are called. 

HHHH 
$ 	I 	I 	I 

H-C- C-C-C-H 
F 	I1 	F!IF!1 

1. Butane C4Hi( 

H HH    
H -C - 

I 	I 	I 

H CH 3 H 
2. Isobutane C 4 H 

(1) Homologus Series 

(2) Unsaturated Hydrocarbon 

(3) Structural isomer 

(4) Functional isomer  

115. "14  H5 	URi fnr w 	rt 
gfftNf 	Il 
(1) 	 (2) 	* 

(3) 	fHd 	(4) 	fir 

116. 	tRwgrfaw f 

(1) Q 	T 	 ) 

(2) fdI1RW? 

1oQ'o t Idledl B-PJl 

(3) Qdoi  f 	1oQ'a 	 p- 
1c 	1dI3i {WX 

UV 1 

(4)Q o  fr 	1aQiotr 	yp 

UieJt*lHl 

117. fir 	fu MTKrPTU 1022  3TU 	I 

fr& VfJ49 f4V arfr 

(1) 	1022  ci 	(2) 	6.023x iO'i 

(3) 	0.0166 	(4) 	6.022i 

118. A,B,C,D,E,f 	f1W - •);RT 1, 

3, 7, 10, 11, 

(1) 

(2) B, C, E, -4fU A, B, E, 

(3) B,C,D,A,B,E, 

(4) 

119. 	ff3'n 1 	2 	iW nt g 
did e) "' W 	 t 1-f Th I 

IkcJ6' 5c(1J 	Rfl 

H H H H     
H-C- C-C-C-H 

A A AA   
1. 1Q2o C4H 1 . - 	0 	

HHH I 	I 	I 
H-C C - C-H 

 'I 
i!i dH 3 I 

2. '1H11Q2o C 4H 10  

(1) 
(2) Mff749 UTFIdc('d1ó 

(3) 1ddl RP3{31 

(4) fTHT 
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120.An element X form an oxide X 1  03 . In which group 

of Mendileev's periodic table, is this element X 

(I) Gropu II 	(2) Group V 

(3) Group III 	(4) Group VIII 

121. In the reaction 3MnO,+4A1 -,. 3Mn+2Al 20 3  the 

oxidising agent is 

(1)MnO, 	(2)A1 

(3) AI,O, 	(4) Mn 

122.Which of the following is keton functional group. 

R=(-CH,), R is Alkyl group 

(1) 

(2) —C—OH 

0 
II 

(3) -C-H  

120. UUX ft MTamytj x2 o3 d'Q' U iftu UU 

1'd.l H'ddl fv Io(cJ 	1R1 13 

If1),{r faprr  I 

(1) 	Urav II 	(2) 	UMV V 

(3) 	UraV III 	(4) 	UMV VIII 

121. f tdH'11efffff3MnO,+4A1 —3 

Mn+2AL,03  1'01031 'dc( (Oxidising agent) N04 U1 

(1) 	MnO, 	(2) 	Al 

(3) 	A1,03 	(4) 	Mn 

122. Uö ftcfipit W1cj' cil2o f 	1T ?firEr 9WJ 

t)i'Q' UZI l R = (-CH 3),R4c1 	T1.fI 

(1)
 

R- C=O 

(2) 

0 
(3) -C-H 

(4) 	if 

(4) 
-C-OH 

123. Convert 20 gm of water into moles. 

(1)2 moles 	(2)3 moles 

(3) 1.5 moles 	(4)1.11 moles 

124. The metals which can form amphoteric oxides with 

oxygen are. 

(I) Sodium and Aluminium 

(2) Zinc and Potassium 

(3) Calcium and Sodium 

(4) Aluminium and Zinc 

125. An element X forms two oxides X0 and X0,. The 

oxide X0 is neutral but X0 2  is acidic in nature. The 

element X is most likely to be 

(1) Sulphur 	(2) Carbon 

(3) Calcium 	(4) Hydrogen 

126. Which of the following does not undergo sublimation? 

(I) Camphor 	(2) Silica 

(3) Dry ice 	(4) Iodine  

123. 20g 	• cr• f* 	- 

(1) 	2H 	 (2) 	3cf 

(3) 	1.5 HT 	(4) 	1.11 TTF 

124. Q7U Vr3t # MTZrffi i-là XTj f)flT 

i'c(H'i 	e'Qeti' 	i 

(1) f 

(2) f 

(3) 

(4) 

125. 	X1'oCH'i XO ){ X0 e'Qt' i xo 
ci'ls Qt'Hio I Iff X0 1 di-1'I1 MTaRTft  

	

lXfio f1oij 	i 
(1) 	Hd 	(2) 	cVdJa 

(3) 	&FRIW 	(4) 	0'0 ftii-16 

126 	fMrr f 	1oci' 

I 

(1)3rzff 	(2) 	IH&c' 

(3) 	Azft 9J 	(4) 	WrkQVIT 

21 



127. Guard cells are capable of photosynthesis because 

they have 

(1) Cytoplasm, nucleus, centrioles 

(2) Cytoplasm, nucleus, centrosome 

(3) Cytoplasm, nucleus, chloroplasts 

(4) Cytoplasm, nucleus, chromosomes 

128. DNA is found in nucleus of cell and 

(1) Golgi bodies 

(2) Lysosomes 

(3) Vacuoles 

(4) Mitochondria 

129. A and B are the two reproductive organs of females. 

A is responsible for nourishment of the developing 

embryo and B is where sperms encounter egg, A and 

B respectively are :- 

(1) Vagina and uterus 

(2) Ovary and fallopian tube 

(3) Fallopian tube and uterus 

(4) Uterus and fallopian tube 

130. Which of the following disease is not cased by virus? 

(I) Dengue 

(2) T.B (Tuberculosis) 

(3) Cough 

(4) Aids 

131. Which of the following tissue gives tensile strength 

against bending and swaying? 

(1) Parenchyma 

(2) Colleuchyma 

(3) Scieren chyma 

(4) None of these. 

132. Double fertilization is characteristic of 

(1) Angiosperms 

(2) Gymnosperms 

(3) Bryophytes 

(4) Pteridophytes 

133. Study by Mendal did not take into consideration which 

of the following characteristics of garden pea. 

(1) Shape of flower 

(2) Colour of flower 

(3) Shape of seed 

(4) Color of seed  

127. dI'd R 	 iic 	d 	 IcQic 

i 

(1) tdo1, 

(2) 9F vv c(tdoC, Hi}r 

(3) FF UV , 	do1, 5MU4FrFr,, 

(4) [)*[ 

128. 	 tdc re . ......... 	 JTI 

(1) dI'54 Tf).jTT 

(2) 'klHH{ 

(3) W.1T 

(4) 

129. A ?{@ B H 	{& U-E I A 

{ UUT Ur U 	o(cjá' U){9 B f 	H old' d: 

i o( d ' U? I A 3{ B ?'1-1 U(5- 

(1) fr& 4f 4 A te 'o1 

(2) fcJ:l 

(3) 4f57  0 1j1 
(4) 'a1rrdd1 

130. 1'cJ6' ?3 1c 	1 ftHt 

(1) 	aT 	 (2) 

(3) 	74T ft 	(4) 

131. 	ff 	fir 1ci' f 	fi f 
))f3 019 14 e 	trur ol d 

(1) 4MTFatTW 

(2) ol1oo(I1HT 

(3) Hd6WTh-P 

(4) Th 
132. 	1oo fFF'VI 

(1) fftH 

(2) f1{ 

(3) 

(4) 1 
133. KgF Uw -aT  it 	f )1Z 	# fo cj 

d 	 frrfpri 

(1) h1d 

(2) tFUr I 

(3) t ;ft id 

(4) IrTr3T 
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134. Which part of brain controls salivation and blood 

pressure? 

(1) Cerebrum 

(2) Medulla 

(3) Cerebellum 

(4) Hypothalamus 

135. Which kind of plastid is more common in flowers and 

fruits. 

(1) Chioroplasts 

(2) Leuco plasts 

(3) Chromo plasts 

(4) Proteinoplasts 

136. Excretory organs present in annolids 

(1) Flame Cells 	(2) Lungs 

(3) Nephridia 	 (4) Kidneys 

137. Proteins are synthesized by which part in the cell? 

(1) Plastid 	(2) 	Lysosomes 

(3) Ribosomes 	(4) 	Golgi apparatus 

138.Glucose is mainly absorbed in which part of kidney? 

(1) Distal convoluted tubule 

(2) Loop of Henle 

(3) Proximal convoluted tubule\ 

(4) Bowman's capsule 

139. 	Genes are made of 

(1) Lipoproteins 

(2) Hydrocarbon 

(3) Histories 

(4) Poly nucleotides 

140. Select the set of analogus organs from the following:- 

(1) Forelimbs of frog and lizard 

(2) The wings of bat and wing of a bird 

(3) Forelimbs of bird and humans 

(4) Forelimbs of cow and duck 

141. If ji= 2 	=5Y and 1343 =7 

then what will be the value of x - y + z? 

(1) 	4 	 (2) 	6 

(3) 	9 	 (4) 	3 

142. If a + b = 1 then what will be the value of 

a3  + b3  +3ab 

(1)5 	 (2)1 

(3)3 	 (4)0  

134. fw& 	icc j' frr F7 4F@-,F-r  

Ole d F cdt U I 

(1) Hdl1d){ 

(2) T 

(3) Hdl5){ 

(4) TFMONM 

135. TFT 	 f 	fil 	icc d 	Ii 8'H 

(1) u' 
(2) iU'H 

(3) ThT? 
(4) 

136. 4o1i' f 	NO 	)-Ri f3fTT  f& fii 	Th? 

(1) (2) 

(3) Z OThEft1T 	(4) 

137. HHf TI 

(1) UHi 	(2) 

(3) d'l1HH 	(4) 	dI'i-1l  

138. 

(1) fQiQ 
(2) 

(3) 

(4) 

139. #tF f8rg JU 

f (1) 

(2) J'ldoc'd10 

(3) I'cJH6H 

(4)  it io1'1,i 

140. 

(1) 

(2) 9HU ,04 ic 

(3) 

(4) 

141. - '.Ji-= 2x,  .J15625 = 5Y)f3 '.J 7 7 

X - y + z? 

(1) 	4 	 (2) 	6 

(3) 	9 	 (4) 	3 

142. 

cJdI' ? 

(1) 	5 	 (2) 	1 

(3) 	3 	 (4) 	0 
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143. The circumference of a circle exceeds its diameter 

by 270 cm then the length of its diameter will be 

(1)252 cm 	 (2) 126 cm 

(3)31.5cm. 	 (4)63cm 

144.A number when divided by 6, gives remainder 2 then 

what will be the remainder if square of that number is 

divided by 6. 

(1)1 	 (2)2 

(3)3 	 (4)4 

145.Find the value of 0.7 + 2.7? 

(1) 3.4 	 (2)2.77 

(3) 3.6 	 (4) 3.5 
146. 

In the adjoining figure AB = BC, BD = CD and IAC = 
370 then what will be the value of x? 

(1)320 	 (2)740  

(3) 106° 	(4) 34° 

147.Find the sum of all the integers from 1 to 100 that are 

divisible by2 or5. 

(1)3000 (2)3050 

(3)3600 (4)3100 

148.Find the value of xy if( 1,2) (4, y), (x, 6) and (3,5) are 

vertices of a rhombus taken in order. 

(1)6 (2)9 

(3)18 (4)24 

149.Evaluate: iJ6+j6+.f 

(1)3 	 (2)2 

(3)6 	 (4)1 

1 50.Evaluate 

C0S 2 50  + COS 2 100  +C0S2 150  +....+ COS90 1 
 

(1) 8 	 (2)8 

(3) 9• 	 (4)9  

143. 270m{u 

cJdII 

(1) 	25299 	(2) 	126 H)-1 

(3) 	31.5Th-f 	(4) 	63H){ 

144. 

wt 	'dI' I 

(1) 	I 	 (2) 	2 

(3) 	3 	 (4) 	4 

145. 0.7+2.7 	 6 

(1) 34 	 (2)2.77 

(3) 3.6 	 (4) 3.5 

146. IB 	I 

rd fOV AB =BC, BD CD 4f3[A(' = 

37° 

(1) 	320 	(2) 	740  

(3) 	1060 	(4) 	34 

147. 1 t 100 	Q 	w-it 

R 2 W 5 6 1  M yri:lt,1dI 	I 

(1) 	3000 	 (2) 	3050 

(3) 	3600 	 (4) 	3100 

148.  

5) f 	rn-i 	ii # fEu 	I 
(1) 	6 	 (2) 	9 

(3) 	I 	 (4) 	24 

149. 

(1) 	3 	 (2) 	2 

(3) 	6 	 (4) 	1 

150. U3T_ 

C0S 2 50 +COS2 100 +C0S2 15 0 +....+C0S2 90 0 
 

(1) 8 	 (2)8 

(3) 9- 	 (4)9 
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15 1. A cone of height 24 cm is divided into two parts by 

drawing a plane through the mid point of its axis and 

parallel to its base. Find the ratio of the volume of two 

parts. 

(1) 1:4 	 (2) 1:7 

(3)4:1 	 (4)2:7 

152.If 1960 = a 5b 7C then find the value of  2 -a 7b -C 

(1)175/8 	(2)7/200 

(3) 7/2000 	(4) 56/25 

153.In AABC, D is a point on side BC such that 2BD= 

5DC. If ar(AABC) = 49cm2  then ar(ABD) = ...... 

(1) 28 cm 2 	(2) 21 cm2  

(3) 14cm 2 	(4) 35cm 2  

154.A natural number when increased by 6 equals 280 

times of its recprocal. Find the number 

(1)20 	 (2)14 

(3)-20 	 (4)6 

155.If a= 2, b= 3, C= 4 then find the value of 

ab+bc+ca—a2 —b 2  —c 2  

3abc—a 3  —b 3  —c 3  

(1)1/8 	 (2)9 

(3)8 	 (4)1/9 

156.In a two digit number, the digit at ten's place is three 

times the digit at unit place. The sum of the number 

and the digit at unit place is 32. Find the numbers. 

(1)26 	 (2)31 

(3)62 	 (4)23 

157. Mean of 8, 12 5  16 9  22 5  10 and 4 is 12. If each 

observation is increased by 25% then resulting mean is 

(1)9 	 (2)15 

(3) 12 	 (4)16 
158.Which of the following can not be the probability of 

an event. 

5 
(1) 	 (2) 	0.95 

18 
(3) 7% 	 (4) 	- 

17  

151.  

My f 	 r,--Ta ft UF -  ffp 

f4v 4famT fairr 	 'a ur 
fl14T Zrar 	I 

(1) 	1:4 	 (2) 	1:7 

(3) 	4:1 	 (4) 	2:7 

152. 1960 = 2- 5 b  7 	 7b -C- i 113' 

1) 	175/8 	(2) 	7/200 

(3) 	7/2000 	(4) 	56/25 

153. AABC f 	w BC ' 	f 	D ftr r 

HIk U3  f 2131) = 5DC 4" I 	ar(AABC) = 49 

3 ar(AABD)=...... 

(1) 	2 8 RIV 	(2) 	21 R 

(3) 	i4H 	(4) 	35f2 

154. f 	' 1 	f 	6 	ft 
Qr 280 	 iR 	I fftpXT 

(1) 	20 	 (2) 	14 

(3) 	-20 	 (4) 	6 

155. 

ab+bc+ca—a2  —b 2  —c 2  

3ahc—a 3  —b 3  —c 3  

(1) 	1/8 	 (2) 	9 

(3) 	8 	 (4) 	1/9 

156. ){ 	f 	rfzpw T  J i  1 	th 	r 
1.kH d' 	I 	ftT HfPfr 	ft Ht 

1c'1 	32 

(1) 	26 	 (2) 	31 

(3) 	62 	 (4) 	23 

157. 8 2  12, 16, 22, 10 	4 T  KM4T?7 12 U I 

r 11I 	HW 25% W fT  w- i-  ?;i- 

rt1}fT? 	JcJl' 

(1) 	9 	 (2) 	15 

(3) 	12 	 (4) 	16 

158. UZT Nf44# W foi cj ~41 f* urzr ift A el u 

frrHoctfl? 

5 
(1) 	 (2) 	0.95 

18 
(3) 7% 	 (4) 
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159. fr 3T M 6 d NV E B 	D A, UVT74V AB :g- 

tv U? I OE = 5 FD{, OD = 7D{ 4fj ar(LBOE) 

= 150 1H 	ar(AAOD) = 

159. In given figure, EB and DA are perpendicular to AB, 

If OE = 5cm, OD = 7cm and ar(ABOE) = 150 cm 2  

then ar(L\AOD) =_____ A °  

B 

EV 

(1) 294 cm 2 	(2) 210 cm 2  

(3) 150cm 2 	(4) 324 cm 2  

160.1n the given figure, PQ is the diameter of the circle. If 

PR = 5cm and QR = 12 cm then find the area of the 

sIiadd region. In 

(1) (25 ;T-30) cm 2  (2) (36 ,r -30) cm 2  

(3) (169ir -30) cm 2  (4) ( 
169 
—r-30)cm2 

161. What is the latitudinal extent of India? 

(1) 4°8'Nto 37°6'N 

(2) 8°4'Nto 37°6'N 

(3) 8°4'Nto 37°6'S 

(4) 10°Nto40 0 N 

162. Sardar Sarovar Dan, is built on which one of the 

following rivers? 

(1) Narmada 	 (2) 	Tapi 

(3) Ganga 	 (4) 	Satluj 

163. Which one of the followings has been declared the 

Union Territory (U.T.) by Government of India 
recently? 

(1) Bhopal 	 (2) 	Ladakh 

(3) Gangtok 	 (4) 	Kerala 

164. Marble isa- 

(I) Metamorphic Rock 

(2) Igneous Rock 

(3) Basalt Rock 

(4) Sedimentary Rock  

El' 
(1) 	294m{2 	(2) 	210m{2  

(3) 	150mP 	(4) 	324n92  

160. f 	fJBid f*iJ PQ 	ft fwr I 

PR = S Tn-I rKa QR = 12 TTH UV 3T Urkr*F 
)ff 	r 	 I 

(I) 	(25r-30)FD-P 	(2) 	(36.7 -30)FiH 

(3) 	(1697r -30-30)R)4' (4)( 
169 
—Jr - 30) Tn-f2  

161. UTT9 Ur MWRTFft IH'd Th? 

(1) 40 8'376'Q"d 

(2) 8°4'37°6' Qi 
(3) 8°4'37°6'r 

(4) 10°40 0 Q'd 

162. Hdt'd 	 foi 	fyep 	rfp-  fjpp- 

(1) 	?-f 	(2) 	3TIft 

(3) 	&ir 	 (4) 	HI- 

163. 	ffpp fw IcH6 	 Hd 'd 	fTT 

d1 H 'H.d 	 4Tjrf27jT fi3p)jT 

(1) 	 (2) 

(3) 	cIdI2o 	 (4) 	ZffF 

164. 	H){- 

(1) ddId iJ6 

(2) 4W& 'o 

(3) WF 	, 6 

(4) 3IcJtz'd i6 
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165.Kaziranga Sanctuary is situated in which one of the 

following states? 

(1) Haryana 	(2) 	Himachal Pradesh 

(3) Assam 	(4) 	Punjab 

166. Match the following 

(i) Iron 	 a. Digboi 

(ii) Coal 	 b. Singhbhum 

(iii) Manganese 	c. Balaghat 

(iv) Oil 	 d. Raniganj 

(1) (i)-d, (ii)-c, (iii)-b, (iv)-a 

(2) (i)-b, (ii)-c, (iii)-d, (iv)-a 

(3) (i)-b, (ii)-d, (iii)-c, (iv)-a 

(4) (i)-a, (ii)-b, (iii)-c, (iv)-d 

167. The Dried and flat area extending from southten part 

of Punjab and Haryana to the Rann of Kutch is known 

as: 

(1) Tha Thar Desert 

(2) The Aravali Hills 

(3) The Himalayas 

(4) The Northern plains. 

168. Which one of the following states receives rainfall in 

winter season 

(1) Punjab 	 (2) 	Uttar Pradesh 

(3) Gujarat 	 (4) 	Tamil Nadu 

169. Which one of the following states produce more 

Coffee? 

(1) Karnataka 	 (2) Andhra Pradesh 

(3) Tamil Nadu 	(4) Madhya Pradesh 

170. which one of the following countries is not a member 

of South Asia Associated of Regional Cooperation 

(SAARC)? 

(1) Bhutan 	(2) 	India 

(3) Nepal 	(4) 	China 

171. What do you understand by the term 'Loo'? 

(1) Sea breeze 

(2) Land breeze 

(3) hot and dry wind 

(4) cold wind 

172. Which Viceroy made Delhi the capital of India in 

1911 A.D. 

(1) Lord Curzon 

(2) Lord William Bentinck 

(3) Lord Hardinge 

(4) Lord Mountbatten  

165. c'j -  flJdI' A dIl 

fHI 	? 

(I) 	fdP 	(2) 	ftw 
(3) 	)fyp){ 	(4) 	14T 

166. 	ipjT T fi.çri 	- 

(i)8 Id 	 (a) 	fEJTt 

(ii) 	 (b) 	firUIrJr 

)ldtOltl 	(c) 	WU.PZ 

(iv) 	 (d) 	d'd1dIr 

(1) (i)-d, (ii)-c, (iii)-b, (iv)-a 

(2) (i)-b, (ii)-c, (iii)-d, (iv)-a 

(3) (i)-b, (ii)-d, (iii)-c, (iv)-a 

(4) (i)-a, (ii)-b, (iii)-c, (iv)-d 

167. fw 

(1) 

(2) 4ffrV& 1J{I 

(3) ftWfrnT VUVa 

(4) [3T 

168. 	ffpc f 	1c 	r f 	jt 

Wa VaVT 

(1) 	ViTrEr 	(2) 	Qthr 

(3) 	d?ld'd 	(4) 	fHT 

169. U5 f5fP1T Rt4  fc 	rrt• 
crccjt1 	? 

(1) 	cd6o1 	(2) 	f1r 

(3) 	3rfgxT 	(4) 

170. 	f5fpfT f 	1cJ ' 

H1cJ.ridI Hd166 (W) T 	?fr ? 

	

(2) 	d'ci 

(3) 	 (4) 

171. '' cJ5' 

(1) B 

(2) 

(3) TEW 4F9,  VFW IF<F 

'(4) 

172. fT 	IHd'f 	1911 Eft. f 	fl 	Th 

d*1&J16l 	Tf)flT_ 

(1) &'c 	cdH6 

(2) 

(3) FraV cJ'dIdI 

(4) FraV  
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173. In 1519 A. D. Zahir-Ud - Din Babar was the king 173. 	--0W8 	 I 

of - 

(1) 	Kabul 	(2) Fargana 

(3) 	Afghanistan 	(4) Kandhar 

174.When was the battle of Sarnugarh fought? 

(1) 	1658A.D. 	(2) 1659A.D. 

(3) 	1657A.D. 	(4) 1660A.D. 

175.Which Guru Sahib composed 'Thit' bani 

(1) Guru Ramdasji 

(2) Guru Amardas Ji 

(3) Guru Angad Dev Ji 

(4) Guru Nanak Dev Ji 

176. When did French troops Land in Vietnam? 

(1) 1856A.D. 	(2) 	1854A.D. 

(3) 1858A.D. 	(4) 	1830A.D. 

177. Print technology of China was brought to Italy by the 

great explorer - 

(1) Macro Polo 	(2) 	Vasco Da Garna 

(3) Columbus 	(4) 	Magellan 

178. During India's freedom struggle , which one of the 

following led to the first 'All India Hartal' 

(1) Protest against Jallianwala Bagh Massacre 

(2) Protest against Rowlatt Act 

(3) Arrest of Mahatma Gandhi 

(4) Arrival of Simon Commission 

179. On 31 January 1930, Mahatma Gandhi sent a letter 

to Viceroy Irwin stating - demands 

(1) 10 	 (2) 	11 

(3) 12 	 (4) 	13 

1 80.Nationalism alignd with factor led Europe to disaster 

in 1914 

(1) Liberalism 	(2) 	Isolationism 

(3) Imperialism 	(4) 	Non intervention 

181 .When did Shiromani Gurudwara Prabandhak 

Committee to be in existence 

(1) 16 November 1920 

(2) 14 December 1920 

(3) 18 November 1920 

(4) 29 December 1920 

the ICS examination 

(1) 1919A.D. 	(2) 	1920A.D. 

(3) 1921A.D. 	(4) 	1922A.D. 

(1) c' 	 (2) 	dd76' 

(3) 1dl'i6-L'6 	(4) 	tUd 

174. W{T 	' UTV 

(1 (2) 	16591. 

(3) 1657. 	(4) 	1660. 

175. 'f fr UTT wfw 	- 

(1) T) 

(2) Ua MWTOM 

(3) 2• 

(4) &o'acft 

176. Td'HlHl msT t UiJ39 vru fr' 
T 	UTfE1T- 

(1) 	1856. 	(2) 	1854t. 

(3) 	1858. 	(4) 	1830Th. 

	

177. f&r w,1TF ir c' 'HTT 	 ftr 	c*6loi 

1.,1 fTIi T  fdpfr_ 

(1) 	HTi 	 (2) 	'Hc( u7r UM4T 

(3) 	 (4) 	di6 

178. YrFa U H d dde' RP[ d' a 
IoRJ 1 1.IftJ A 'H 	'd.l cJ 	5' T 

(1) W3T Jf3P 	U t 

(2) 

(3) HPW rr'iTh ift rd.'d1 

(4) Wb{X 	 i 
179. 31i-iócfl 

........ 

(1) 	10 	 (2) 	11 

(3) 	12 	 (4) 	13 

180. d'H't ciIOi 	IccJ 41 cOda 71J 	1914 

. f 	'cj1 

(1) 	d'Hdt 	(2) 

(3) 	)TTrTUr 	(4) 

181. 	W 	 f 
('1) 	16 61d 1920 

(2) 14 tiid 1920 

(3) 18 6Id 1920 

(4) 29 tid 1920 

T H'H 	B t frr w 	 . 
(ICS) 	;ffli:iw ur 

(1) 	1919t. 	(2) 	1920t. 

(3) 	1921. 	(4) 	1922t. 

182.In which year Neta ji Subash Chander Bose passed 182 
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183.The constitution of India was enforced on: 	183 

(1)26 January 1949 

(2) 26 January 1950 

(3) 20 January 1948 

(4) 28 January 1950 

184. Which chapter includes the fundamental rights of the 184 

citizens? 

(1) Chapter 3 	 (2) Chapter 4 

(3) Chapter 5 	 (4) Chapter 6 

185.Total fundamental duties includes into the constitution 185 

Trau ;Fr i 'a atl FW e,--Tr faPfr? 

(1) 26,1adl 1949 

(2) 26 i-16'i3l 1950 

(3) 20 rIádl 1948 

(4) 28 t1a'd1 1950 

O'dlldc(' U,  if 	,iIgc('cj )111ba U,  fftPfl' 

(1) 	fftPP 3 	(2) 	) {ftPnTU 4 

(3) 	4fft4frE 5 	(4) 	HftPW 6 

Hf'U'6 

 

%U FfHF ){fcdd 	f Idkl 1 -& 

are 

	

(1) 10 	 (2)11 

	

(3) 12 	 (4)13 

186. What is minimum age to become the president of 

India: 

(1) 	10 	 (2) 	11 

(3) 	12 	 (4) 	13 

	

186. d'1z31Jf 	 ? f 	d 

(1) 	25 years 	(2)30 years (1) 	25 Wi 	(2) 	30 W5 

(3) 	35 years 	(4)40 years (3) 	35 W 	(4) 	40 TP5 

187.How many members President can nominate in the 187. dHedZABI uriT 	f 	fT 	TJ 	rir 

council of states? H' 

(1) 	8 	 (2)12 (1) 	8 	 (2) 	12 

(3) 	2 	 (4) 	10 (3) 	2 	 (4) 	10 

188.How much delay the council of states can cause in 188. 'ffHW, t? 	1..PB 	fu fkt W ift 
the passing of money bill: 1-F Hct' 	U  

(1) 	14 days 	(2) 20 days (1) 	14 f? 	(2) 	20 ft? 

(3) 	25 days 	(4) 30 days (3) 	25 fE? 	(4) 	30 ftW  

189. The judges of the supreme court retire after completing 189. T1l1{Z 	flF i 	frt Q-rr f 	rd 	'ftd 

the age of: 

(1) 	60 years 	(2)62 years (1) 	60 W5 	(2) 	62 )Pi 

(3) 	65 years 	(4) 70 years (3) 	65 W3 	(4) 	70 W 

190. Who administers the oath of office and secrecy to 190. PJ.1t )-r 	1-1IdHt 	 ){J 	4 )-IcJo('dl 

the members of union council of ministers: -av up.[3 	 tic( 

(1) President (I) 	EF)TZTUt 

(2) Vice president (2) 	QV 	rnZUt 

(3) Chief justice of the supreme court 3) 	1J1 -[ 7aT 

(4) Prime minister (4) 	1 :it1T6 	[t 

191. How many members are these in Punjab legislature 191. 1flPE iEt fu'a FW 	fk 	J U? 

assembly? (1) 	117 	 (2) 	119 

(1) 	117 	 (2)119 (3) 	120 	 (4) 	122 

(3) 	120 	(4)122 192. thF d RZ1.13t 	91 IaH I'd 	{i fTU  
192.The electoral college for the election of the vice 

president includes: (1) 
(I) 	Lok Sabha 

(2) T[ 1u'a 
(2) 	Rajya Sabha (3) 
(3) 	State legislative assembly (4) 
(4) 	Lok sabha and Rajya Sabha 
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193. Which type of Investment is passed on the volume of 193. 

profit and income? 

(1) Antonomous Investment 

(2) Induced Investment 

(3) Net Investment 

(4) Total investment 

194. Rahul installed computerized machine is his factoij. 194. 

Some workers of his factory become unemployed due 

to having no knowledge of computer. which type of 

unemployment is this? 

(I) 	Seasonal unemployment 

(2) Disguised unemployment 

(3) Volunteer unemployment 

(4) Technical unemployment 

195. In which state of the India has maximum population 195. 

under poverty line? 

(1) 	Bihar 	(2) 	Punjab 

(3) 	Kerala 	(4) 	Haryana 

196. Which Co-operative Society sells milk products in 196. 

Gujarat? 

(1) 	Amul 	(2) 	Verka 

(3) 	Mother Dairy 	(4) 	Sudha 

197. Name the Indian who won the Nobel Prize in 197. 

Economics. 

(1) Dr. Rajindra Prasad 

(2) Rabindranath Tagore 

(3) Mother Teresa 

(4) Dr. Amartiya Sen. 

198. In India which means of transport is considered more 198 

cheaper and better? 

(1) Water transport 

(2) Air transport 

(3) Railway transport 

(4) Road transport 

199. What are called those industries which produce that 199 

goods that are used for the production of other goods? 

(1) Capital goods industries 

(2) Inter mediate goods industries 

(3) Basic industries 

(4) Consumer goods industries 

200. Find growth rate in India, if per capita in 1996 is 

Rs.8000/- and in 1997 is Rs 10,000 in India. 	200 

(1) +80% 	(2) 	+20% 

(3) -20% 	(4) 	+25%  

fj%pj± f 	1a Q H ift IccJl ff mTy 4F1-T  

- 

(1) Rt 	raH 

(2) f?sf 
(3) T7fB 
(4) 

Hf1 

	

Ifcdl 	 fUQZT 

	

t i-Pdcl'cil ?St tF c('dd 	 UrE UF I 

ft tcjiciI 	? 

(1) m-fttciId1 

(2) 91ft ddI!rJ 

(3) fci idt1di'dl 

(4) o(6 1c1 dt1th'dl 

R 

dId111 

(1) 	Iki'd 	 (2) 	ihri 
(3) 	dY 	 (4) 	Uft4f rZ7 
No A ).iicJc,d1 	dI-1d'. 

t1 	? 
(1) 4f3 	(2) 	q5dCO  

(3) 	HVU 	(4) TV 

fT 'dl 	)3f -.  H'Hd 	?9 

f.ffr ? 
(1)g7r. dIi1td 

(2) dItdá Z& 

(3) HVU 

(4) 

	

f-TU Ic(cJ krPU4'd 	 HH& 

ff,,.çr çffçr jrT 

(1) qF 4'd4'. 

(2) j'1 
(3) 

(4) HO(l tj1'.&j1'.z 
Qcjá 	rr r 

Itida' 

(I) 	1i111dIdt3Qt1dI 

(2) 	Ud1T3QtdI 

(3) 	KiffF QidI 

(4) 	W31T V93 Qdl 

1996 fr 8000 -6 . 

1997 AgU 10,000 r* I'cOWd U3 	I 

(1) 	+80% 	(2) 	+20% 

(3) 	-20% 	(4) 	+25% 
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Talent Search Examination – 2020-21 
PUNJAB State Level Test – 2020 

Class – X  
MENTAL ABILITY TEST 

 

1. 2 2. 3 3. 3 4. 3 5. 3 6. 4  
7. 3 8. 4 9. 3 10. 3 11. 4 12. 1 
13. 1 14. 3 15 4 16. 3 17. 4 18. 1 
19. 3 20. 2 21. 4 22. 2 23. 1 24. 4 
25. 1 26. 1 27. 1 28. 3 29. 3 30. ** 
31. 3 32. 3 33. 2 34. 4 35. 1 36. 3 
37. 2 38. 1 39. 3 40. 3 41. 4 42. 2 
43. 2 44. 4 45. 3 46. 3 47. 3 48. 3 
49. 2 50. 4 51. 1 52. 1 53. 2 54. 2 
55. 1 56. 4 57. 1 58. 3 59. 3 60. 1 
61. 4 62. 3 63. 2 64. 3 65. 1 66. 2 
67. 1 68. 4 69. 2 70. 2 71. 4 72. 2 
73. 2 74. 3 75. 1,3 76. 4 77. 2 78. 3 
79. 2 80. 4 81. 3 82. 4 83. 4 84. 3 
85. 2 86. 3 87. 2 88. 4 89. 4 90. 2 
91. 2 92. 3 93. 1 94. 4 95. 3 96. 1 
97. 4 98. 3 99. 2 100. 4 
 
 
** No options are correct. 
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 Answer Key 
National Talent Search Examination – 2020-21 

PUNJAB State Level Test – 2020 
Class – X  

SCHOLASTIC APTITUDE TEST 
 

101. 2 102. 3 103. 1 104. 4 105. 2 106. 1,3  
107. 1 108. 2 109. 2 110. 4 111. 2 112. 2 
113. 1 114. 4 115. 3 116. 4 117. 3 118. 3 
119. 3 120. 3 121. 1 122. 1 123. 4 124. 4 
125. 2 126. 2 127. 3 128. 4 129. 2 130. 2 
131. 2 132. 1 133. 4 134. 2 135. 3 136. 3 
137. 3 138. 3 139. 3 140. 2 141. 2 142. 2 
143. 2 144. 4 145. 4 146. 1 147. 2 148. 3 
149. 1 150. 1 151. 2 152. 2 153. 4 154. 1 
155. 4 156. 2 157. 4 158. 4 159. 1 160. 3 
161. 2 162. 1 163. 2 164. 1 165. 2 166. 3 
167. 1 168. 1 169. 1 170. 4 171. 3 172. 3 
173. 1 174. 1 175. 4 176. 3 177. 1 178. 2 
179. 2 180. 3 181. 1 182. 2 183. 2 184. 1 
185. 2 186. 3 187. 2 188. 1 189. 3 190. 1 
191. 1 192. 4 193. 2 194. 4 195. 1 196. 1 
197. 4 198. 3 199. 3 200. 4 
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